Physics 105: General Physics
Homework 12
Assigned the week beginning Nov. 27
Name:_________________________
· A pendulum with a length 25 cm and a bob mass of 200 g is released from rest from an angle of 40( from the vertical.

· Draw the forces acting on the bob when it is at an angle of 20( from the vertical and break them into radial and tangential components.

· What is the tangential acceleration at 20(?

· What is the radial acceleration at 20(?

· Lucy and Fred are running around a 400-m circular track (400 m is the circumference). Lucy completes a lap every 1.20 minutes; Fred every 2.00 minutes. If they begin together, how long will it take Lucy to “lap” Fred, that is, how long before she passes him having run one lap more than him.  What is Lucy’s speed?  What is Lucy’s acceleration?  What is Lucy’s angular acceleration?   

· When the tub of a washing machine begins its spin cycle, it starts from rest and reaches an angular speed of 6.00 revolutions per second ( this takes 5.00 s.  At this time the lid is opened, a safety switch turns the washer off, and the tub comes to rest in 7.00 s after the lid opening.  Through how many revolutions did the tub turn from when it began the spin cycle to when it stopped (12 seconds in all).  You should assume constant angular accelerations for both the starting and stopping processes.   



















